
 

1. Evaluate 
a. log଻(7

ଷ) 
b. logଷ 81 

c. logଷ ቀ
ଵ

଼ଵ
ቁ 

d. logଷ √81
య  

e. 7୪୭୥ళ ଷ 
f. 7୪୭୥ళ ହା୪୭୥ళ ସ 
g. 7ଷ ୪୭୥ళ ଶ 
h. logହ 80 

2. Solve for 𝑥 
a. log௫ 64 = 6 
b. logଷ 𝑥 = 2 
c. logଷ 𝑥 + logଷ(𝑥 − 2) = 1 

3. Evaluate 

a. logଶ ቀ
ଵ

଼
ቁ 

b. logଷ൫9√3൯ 

c. logହ ቀ
√ହ

ଵଶହ
ቁ 

d. logଷ 9
ସ 

e. logభ
మ

2 

f. logభ
య

27 

g. logమ
య

଼

ଶ଻
 

h. logమ
య

ଽ

ସ
 

i. log ర

మఱ

ହ

ଶ
 

4. Given that logଵ଴ 2 = 0.301 and logଵ଴ 5 = 0.699. Find 
a. logଵ଴ 10 
b. logଵ଴

ଶ

ହ
 

c. logଵ଴ 2.5 
d. logଵ଴ 10000 

e. logଵ଴ 125 
f. logଵ଴

ଵ

଼
 

g. logଵ଴ 0.001 

5. Evaluate 
a. 7୪୭୥ళ ଷ 
b. 5୪୭୥ఱ ଶା୪୭୥ఱ ଷ 
c. 3ସ ୪୭ య ଶ 
d. 6୪୭୥ల ଼ି୪୭୥ల ଶ 

e. 11
భ

మ
୪୭୥భభ ଵ଺ 

f. 8୪୭୥మ ହ 
g. 8ଷ ୪୭୥ఴ ସିହ ୪୭ ఴ ଶ 
h. 16୪୭୥ర ଷ 
i. 2୪୭୥ఴ ଶ଻ 

6. Solve for 𝑥: 
a. 8௫ = 4௫ିଵ 

b. ቀ
ଵ

ଽ
ቁ
௫ାଶ

= ቀ
ଵ

ଶ଻
ቁ
௫
 

c. 5௫ାଶ = 1 
d. 25௫ାଶ = 625 
e. 16௫ ∙ 8௫ାଵ =

ଵଶ଼

ଷଶೣషభ
 

  



 

 
7. Solve for 𝑥: 

a. 4 logଶ 𝑥 = logଶ 16 
b. logଷ √𝑥 = logଷ 5 
c. log௫ 16 = 4 
d. log௫ 25 = 4 
e. log௫ 16 = 3 
f. logଶ 3 = 𝑥 
g. logଷ

ଵ

ଶ
= 𝑥 

h. logయ
ఱ

4 = 𝑥 

8. Solve for 𝑥: 
a. logଷ 𝑥 + logଷ 5 = logଷ 20 
b. logଶ 𝑥 − logଶ 3 = 3 
c. logସ(𝑥 − 3) − logସ 𝑥 = 2 
d. logଷ 𝑥 + logଷ(𝑥 − 2) = 1 
e. logହ(𝑥 + 2) + logହ(𝑥 − 3) = logହ 6 
f. 2 log଺(𝑥 − 3) = log଺(5 − 𝑥) 


